UGC NET - PAPER - 1

MOCK TEST PAPER
e PAPER-I This paper contains 50 objective type 7uéstions.
Each question carries 2 marks. L

N
Attempt all the questions. / N,

° Pattern of questions : MCQs , \/s/

° Total marks (PAPER I ) : 100 —
e  Duration of test : Pa;}e{r\k? 1 HgLD

PAPER-I L

~_
1.  In union budget 2018-19, the government amd«etting up Ekalavya Model
Residential School, Consider the following stater/nerft about it.
(i) It will provide the best qualik/gdgcatié‘n\ to the tribal childrenin their own
environment AN J |
(i) by 2022 it will be build in‘every block with more than 50% ST population.
(iii) It will focus on presewingw and culture.
Which of the statement given above is/are correct?
Select the answer using the codes given below:
(1) i and ii only (2) ii and iii only

(3) iii onl \ (4) i, i and iii
2. Whicb%{/h;‘ollowing statement is correct about the RISE by 2022 announced by
gové\rnmen\t/\in Union budget 2018-197
1) ltis to ste/pmp investments in Education.
/m to step up investments in health.
(3) It is to step up investments in telecommunication.
(4) It is to step up investments in sports.
3.  Which country to host the World Sustainable Development Summit — 2018 ?
(1) South Africa (2) Nepal

(3) Brazil (4) India
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4.  Which HRD Ministry-appointed committee is drafting new National Education Policy

(NEP)?

(1) Ram Shanker Kureel committee

(2) K Kasturirangan committee N

(3) V G S Rathore committee //«
(4) KJ Alphonse committee

N
5.  With reference to Paris agreement on climate change, Coﬁ@e'\faroﬁing
statements : , \/
C

l. It was signed by 195 nations in Dec 2015 at Paris )
[I. The main aim is to keep a global temperature/ﬁs\%\ this cEn/tury well below 3
degrees Celsius NI
1. It further aims to drive efforts to limit the tevmperatureﬂc/rease even furtherto 1.5
degrees Celsius above pre-industrial levels
Which of the above statements are correct ? /"
(1) 1and Il /(Z)Iland m -
(3) I, Il and Il \(4) r\and IR

6.  Which of the following statements are correct’?
a. Parliament cannot alter the@nd terrltory of J&K without the consent of the
State legislature
b. The Union shall have the power to suspend the State Constitution on the ground
of failure to comply with the directions given by the Union.
c. No proclamation of Emergency can be made by the President under Article 352
on the \round of “internal disturbance” in J&K without the concurrence of J&K
Goyernméh{\
Which of the above statements are correct ?

/(Mand (b) (2) (b) and (c)

(3) (a) and (c) (4) (a), (b), (c)

7. Assertion (A): Global warming is the increase in Earth’s near-surface air and ocean
temperatures.
Reason (R): The greenhouse effect is when water and carbon dioxide absorb
outgoing infrared radiation, increasing the planet’'s temperature
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Choose the correct code:
(1) Both (A) and (R) are correct  (2) Both (A) and (R) are incorrect,

(3) (A) is true and (R) is true (4) (A) is false and (R) is true
8. Which of these pairs are correctly matched ? / A\
a. The Vienna Convention : Protection of Ozone Layer (=

c. The Minamata Convention : Lead

(1) aonly ' \ )
(2) aand b only //«

/

b. Montreal Protocol : Substances that Deplete the Ozone Layf\ )

(3) conly NG

9. Representation of the People (Amendment and VaHda’ciﬁﬁ)Bi , 2013, brought two
key changes.These changes were : .
* Even if a person is prohibited from voting dm in police custody or in jail,
he can file nomination for an election. v

* Definition of “disqualified” in the}ét has bee?vamended disqualification has to
be due to conviction for certain ecmed offe ces and can be on no other ground.
* Anyone in prison or on tnéfvf\}ul custody of the police (other than preventive

N

detention) is not entitled to vm
Select the correct answer using codes given below.

(1) I and ii only (2) I and iii only
(3) ii and iii only (4) 1, ii, ii
10. Match List — I and List — Il and identify the correct code:
a. Worl Health Day i.16th September
b. World Pt\)pulatlon Day ii. 1st December
World OzorWDay iii. 11th July
/ B\\AQId AIDS Day iv. 7th April
Codes:
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11.

12.

13.

(4) i iv i i

Assertion (A): Water Borne diseases are largely caused by micro-organisms
present in human or animal waste

Reason (R): Typhoid fever is a Water Borne diseases. / N
Choose the correct code: f /
(1) Both (A) and (R) are correct AN

(2) Both (A) and (R) are incorrect, /N\ \—/
(3) (A) is true and (R) is true ) \/ ‘

(4) (A) is false and (R) is true //« )

Which of the following statements regarding the meaning of research are correct
a. Research refers to a series of systematic activitwwﬁNiiiés undertaken to find
out the solution of a problem , ),

b. It is a systematic, logical and an unbiaMss wherein verification of
hypothesis data analysis, interpretation and forpaation of principles can be done
c. Itis an intellectual enquiry or qt}eﬁ\’fowardsltr/um

d. It leads to enhancement of k wled\ge\ >

(1) (a), (b) and (c) /”Q (2) (b/), c) and (d)

(3) (a), (c) and (d) \ (4) (), (b), (c) and (d)

Below are given two seat — research methods (Set-1) and data collection tools
(Set-Il). Match the two sets and indicate your answer by selecting the correct code:

A Experimental method i Using primary secondary sources
B Ex post-facto method i Questionnaire

C Descriptive survey method iii Standardized tests

D Ijistoric\éi/\method iv Typical characteristics tests
Codes: N

/\‘\\BCD/

1000 il v
2.0 v i i
3.i il i v
4.0 v it i
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14. Consider the following statements :
a. Teaching is the stimulation, guidance, direction and encouragement of learning
b. Good teaching is as much about passion as it is about reason
c. Good teaching is also about bridging the gap between theory and p/cttce
Which of the above statements are correct ?
(1)aandb (2)bandc AN
(3)aandc (4)a, b and ¢ /N\ \-/
15. Consider the following statements about NITI Aayog : \/
a. The National Institution for Transforming India, als jueéNlTl Aayog, was
formed via a resolution of the Union Cabinet on Ja a\y 1, ZOJSJ
b. NITI Aayog fosters Cooperative Federalism ' —— >
c. The President is its Chairman , ),
Which of the statements given above is/are M
(1) a and b only (2) b and conly
(3)aandc /(ﬁ )a, b and cw

16. Imagine you are working in an e\ucatlanyhstltutlon where people are of equal
status. Which method of co;( unlcatlon IS best suited and normally employed in

such a context?
(1) Horizontal communication\(/z/) Vertical communication

(3) Corporate communication (4) Cross communication
17. Anunsolicited e-mail message sent to many recipients at once is a
(1) Worm (2) Virus
(3) Thr \ (4) Spam
If th proposmon ‘All thieves are poor’ is false, which of the following propositions
/an be clalmeﬁ/certamly to be true?

ositions :
(1) Some thieves are poor. (2) Some thieves are not poor.
(3) No thief is poor. (4) No poor person is a thief.

19. It is communication of feelings, emotions, attitudes, and thoughts through body
movements / gestures / eye contact, etc.” which type of communication is this?
(1) Oral communication (2) Written communication
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20.

21.

22.

23.

(3) Non verbal communication (4) None
Questions20-24 Study the follow ing graph carefully to answer the given questions.
PRODUCTION OF TWO COMPANIES A AND B ( IN CRORE UNITS) OVER
THE GIVEN YEARS /’\

4 [

5 )

b

I
gy
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For Company A, how much/is/t}e perc\:\ increase in production in 2000 from
19997 “ N/
(1) 0.25 \yﬁ 2.5
(3) 25 (4)12.5
How many units is the total production of Company A for the given years?
(1) 9 crores (2) 17.75 crores
(3) 12.25crores (4) 11 crores
Whamghg;ﬁerence in units produced by the two companies in 19997
(1/1,50,000})@9 (2) 15,00,00,000
/ 15,00,000 (4) 15,000
How many units is the approximate average production of Company B for the

given years?
(1) 3 crores (2) 2.55 crores
(3) 2.75 crores (4) 2.25 crores
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24.

25.

26.

27.

28.

29.

In which year did both the companies have no change in production from the
previous year?

(1) 2000 (2) 2002
(3) 2003 (4) 2004 N
Which of the following collection techniques were used as the primagﬁsearch

methods for this study? AN

(1) Qualitative (2) Quantitative /N\ \—/
(3) Both (1) and (2) (4) None \/ ‘

Which of the following problems was India faced with a Jndependence ?

(1) Military attack from a country across the border. \

(2) Lack of coordination between the Central and ista%ebe\)érnments.

(3) Improper coordination of various Government po@e/s

(4) Increasing the production from a very low lev

Which of the following issues was not appropriately realized by the Central

Government. / )“

(1) Ethnic diversity of the p(;o/ple\ J

(2) A national language for thie country

(3) Implementation of the fornml\atedjbollmes

(4) Centre -State relations

Why was central economic planning found to be difficult?

(1) Multiplicity of States and Union Territories

(2) Lack of coordination in different Government departments

(3) Aut omy\given to the States in certain matters

4)/I.zack oT\wnI in implementing land reforms

Why was the Trﬁgwstlc reorganization of the State accepted?
(\Ijq'Qe States were not cooperating with the Central Government
(2) Non- Congress Governments in the States demanded such a reorganization of
the States

(3) No common national language emerged

(4) Strong pressure from the States was exerted on the Central Government to
create such States

www.vpmclasses.com | Ph-9001297111/ WhatsApp - 9001894070 | info@vpmclasses.com




30.

31.

32.

33.

34.

35.

Which, according to the passage, can be cited as an exercise in democratic practice
in India before Independence?
(1) The handing over of power by the British to India

(2) The Indianisation of the Indian Civil Service N

(3) A neutral role played by the Army //«
(4) None of the above AN

The information to be collected in survey method are related t N\ \‘/
(1) Present Position ) \/ ‘

(2) Aims of the research //« )

(3) The attainment of aim of research /\ )

(4) All of the above A ¢

One of the essential characteristics of research is ),

(1) Sensitivity (2) Genem

(3) Usability (4) Replicabjlity

Identify the main Principle on whig/tb\e Parligm)entary System operates.

(1) Responsibility of Executive Legi\eﬁa\tur -

(2) Supremacy of Parliamery/m\

(3) Supremacy of Judiciarys \ ) ’

(4) Theory of Separation of DW

Match list | with list Il and select the correct from the code given below :

List | ( Institutions) List Il (Locations)
1. Indian Veterinary Research Institute i. Pune

2. Institute of Armament Technology ii. Izat Nagar
3. Indian Institute of Science ii. Delhi

4. National Ir;\s\tiitute for Educational Pannesi and Administrators vi. Bangalore
m 2-i, 3-iv, 4-iii (2) 1-ii, 2-iv, 3-ii, 4-iii

(3) 1-ii, 2-iii, 3- 1, 4-iv (4) 1-iv, 2-iii, 3-ii, 4-i

The prime minister of India is appointed from
(1) The leading Party in Lok Sabha
(2) The Leading Party in Rajya Sabha
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36.

37.

38.

39.

40.

41.

42.

(3) The leading party in Lok Sabha and Rajya Sabha combined

(4) None of the above

The study of interrelations between Organism and their environment is called

(1) Biosphere

(3) Synecology

The term ICT is now also used to refer to the convergence of/\

(1) Audio visu

(3) Both (1) and (2) (4) None , \/
Ca

al

(2) Ecology / \

(4) Autecology =N

(2) Telephone netw ork

Fossil Fuels include

(1) Oil
(3) Coal

Noise in excess of

(1) 40-65 db
(3) 80-100 db

/

2) Natural Gas >
(2) / ey

(4) All of the above—
is called noise pollution .

(2) 60-70db

(4) None of tie above

Effectiveness of teaching depengs/qn N 2

(1) Handwriting of Teacher \ (2)\Sp\eak ngj ability of Teacher

(3) Qualification of the Teacyé (4) Subject Understanding of the Teacher
The participation of studenté will be méxfmum if _ method is used for teaching.
(1) Text Books
(3) Conference Method (4) Lectures
In following questions, number series is given. One of the numbers in each series

) Discussion Method

is wrong. After searching wrong number find the correct number in its place.
510, 254, 126, 64, 30, 14, 6

(1) 252 \/\
3) 130

\\/

(2) 62
(4)9

“\_/

43 Whicheasdning determines whether the truth of a conclusion can be determined

for that rule, based solely on the truth of the premises?
(1) Deductive
(3) Abductive

(2) Inductive
(4) All
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44.

45.

46.

47.

Insert the missing number or letter from among the given alternatives.

425 4714 ?
& AERAYE&RERY AL /\
(1) 140 (2) 280 | (L

(3) 875 (4) 925 / N )
In the follow ing question assuming the given statements to b tr\uev,\ﬁ\qd out which

of the two assumptions | and Il given below them is/are c(leffnitely true gjive answer

as. =
(1) Only assumption | is implicit /\\ J
(2) Only assumption Il is implicit S

(3) Either I or Il is implicit , ~

(4) Neither | nor Il is implicit \,

(E) Both | and Il are implicit /)

Statement: The State governme%a@ decidgq‘fo appoint four thousand primary
school teachers during the r?t?ﬁrqanci\a\i\@}.

Assumptions: £ )

|. There are enough schools ihth\e?te to accommodate four thousand additional
primary school teachers.

Il. The eligible candidates may not be interested to apply as the government may
not finally appoint such a large number of primary school teachers.

What is the latest write-once optical storage media?
(1) Digital paper (2) Magneto-optical disk

(3) WORM disk (4) CD- ROM disk
hich of the%llow ing identifies a specific web page and its computer on the
Web?
(1) Web site (2) Web site address
(3) URL (4) Domain Name
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Direction (48-49) In the following figure, rectangle, square, circle and triangle
represents the regions of wheat gram, maize and rice cultivation respectively. On
the basis of the figure, answer the following questions.

1 2 ' | [
4 /8 1\ AN .
5 K\ / 67 1 s | \/\
Bl ( )/
y?o

48. Which of the area is cultivated for wheat and maize o ’

(1)8 (2) 6 Ve,

j \_/\

(3)5 (4) 4 |

49. Which of the area is cultivated for maize onIY?\/\/
(1) 10 (2) 2

"

(3)3 e

50. Pointing to a photograph. Bajpai sai&,\‘i He is the son of the only daughter of the
father of my brother.” How Bajpai | related 4o the man in the photograph?
(1) Nephew L (2)\Brother

(3) Father \w Maternal Uncle
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ANSWER KEY
PAPER-I

Question

-
N
w

5/6([7]8[9[10]11[12]13|14]|15/16|17[18/19]20

4
Answer (4|14 |24 |3(1|2|1|2|1]4|3|4|1[1]14|2|3]3
Question [21]22|23| 2

4125(26]|27|28|129/30|31|32(33|/34(35|/36(37|38|39(40

Answer (4| 1| 2

1141113141214 |3|1]1[1]2]|3[4]3[4

4
Question {41(42 (43|44 |45|46(47(48|49|50
Answer (22| 1] 4

11alala]3]a

HINTS AND SOLUTIONS

1.(4) Eklavya schools will be established for scheduled caste (SC) and schedule tribe

2.(1)

students by 2022 on the lines of Navodaya schools.

They will be model residential schools set up in each Block. It will in areas with
more than 50% tribal areas and 20,000 tribal people.

These schools will be part of Navodaya Vidyalayas. It will provide training in sports
and skill development.

It has special facilities for preserving local art and culture.

Revitalising Infrastructure and Systems in Education (RISE) Scheme :

RISE scheme aims to lend low-cost funds to government higher educational
institutions. It will be launched with a total investment of Rs. 1 lakh crore in the next
four years. It will be financed via restructured higher education financing agency
(HEFA), a non-banking financial company.

3.(4) The World Sustainable Development Summit—-2018 was held in New Delhi on

February 16.

The summit will address a wide variety of issues, including combating land
degradation and air pollution, effective waste management and create financial
mechanisms to enable effective climate change mitigation.

The theme of the 2018 Summit is—Partnerships for a Resilient Planet, which seeks
to create action frameworks to resolve some of the most urgent challenges facing
developing economies in the backdrop of climate change.

It seeks to bring together on a common platform, global leaders and thinkers in the

fields of sustainable development, energy and environment sectors.
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4.(2) The 9-member committee, headed by former ISRO chief K Kasturirangan, was

5.(4) An historic agreement to combat climate change and unleash actions ani

6.(3)

constituted by the Union HRD Ministry to draft new National Education Policy (NEP)

on June 2017.The committee will submit its report by March 31, 2018. The existing

NEP was framed in 1986 and revised in 1992. N

(Lrues{ment

towards a low carbon, resilient and sustainable future was agreed by 195 nations in

Paris in Dec 2015. /

The Paris Agreement for the first time brings all nations into a common ca is\é based

on their historic, current and future responsibilities. &«

The universal agreement’s main aim is to keep a glo/baﬁemperai% rlse this century

well below 2 degrees Celsius and to drive efforts to-limitthe temperature increase

even further to 1.5 degrees Celsius above pre-mdustr@els.

The 1.5 degree Celsius limit is a significanthnse line against the worst

impacts of a changing climate. v

Under Part XXI of the Constitution Qf/fndla WhICh deals with “Temporary, Transitional

and Special provisions”, the Stat Qf Jamde Kashmlr has been accorded special
ded in 1st Schedule as 15th state, all

the provisions of the Constitution WhICh are applicable to other states are not

status under Article 370. Even though inc

applicable to J&K.

Special Features- J&K is the only state in India which has a Constitution of its own.
The Constitution of J&K was enacted by a separate Constituent Assembly set up by
the State and it came into force on 26th January 1957.

7.(1) Global rming is the increase in Earth’s near-surface air and ocean temperatures.

The /greenho\use effect is when water and carbon dioxide absorb outgoing infrared
radiation, mcfeasmg the planet’s temperature.Greenhouse gases contribute to
MWarmrng.What is determined to be a greenhouse gas is any heat-trapping
gas present in the Earth’s atmosphere.

The two most common greenhouse gases are water vapor and carbon. These
gases help absorb infrared radiation and regulate the Earth’s climate.However, the
increase in industrial production has increased the amount of greenhouse gases

present in the atmosphere.
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The increase in carbon dioxide emissions has made it difficult for heat to escape
the atmosphere which in turn contributes to the warming effect.

8.(2) The Vienna Convention for the Protection of the Ozone Layer is a Multilateral
Environmental Agreement. It was agreed upon at the Vienna Conferen/cexof 1985
and entered into force in 1988. [\

It acts as a framework for the international efforts to protect the ozone layer.
9/(}12/@\@ prio ocol to
the Vienna Convention for the Protection of the Ozone {a’yer) is an_international

The Montreal Protocol on Substances that Deplete the Ozon

treaty designed to protect the ozone layer by phasing out t ggceductlon of numerous
substances that are responsible for ozone depletion-"
The Minamata Convention on Mercury is an |nternai|en/rfrééw{esigned to protect
human health and the environment from anthropogen@ssions and releases of
mercury and mercury compounds.
The Convention was signed by delegates representing close to 140 countries on 19
January 2013 in Geneva and ad/opfed later. thai/year on 10 October 2013 on a
Diplomatic Conference held in &mambiodapan The Convention is named after
the Japanese city Minamatg/

9.(1) In July 2013, Supreme Court had ruled that a person, who is in jail or in police
custody, cannot contest elec:o\ns\le/(eglslatlve bodies.
Representation of the People (Amendment and Validation) Bill, 2013 however,brought
two key changes:
Firstly , even if a person is prohibited from voting due to being in police custody or
injail, a Iong as his name is entered on the electoral roll he shall not cease to be an
ele/tor Thismphes that he can file nomination for an election. Secondly, definition

f“dlsquallfleddm the Act has been amended.
/OPT‘:@QO this ‘act, the definition of disqualified means disqualified for either being

chosen as or being a MP or MLA.
Secondly, definition of “disqualified” in the Act has been amended.
The amendment adds a ground to the definition that the disqualification has to be
due to conviction for certain specified offences and can be on no other ground.
Conviction for only these certain offences would result in the person’s name being
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removed from the electoral roll and he would cease to be an elector.

10.(2)

11.(1) Water Borne diseases are largely caused by micro-organisms present in human or
animal waste, which find their way into human body. N
These diseases are infectious, which means that they can spread fron{@e/person
to another.

N\
N
So high standards of hygiene and sanitation are needed to s;op/%héQseés\eﬁom

spreading. :
Waterborne diseases include: & )

i) Typhoid fever /\ )

ii) Giardia NN
iii) Dysentery

| ~/
iv) Cholera \

(
(
(
(
(v) Diarrhoea (caused by a variety of pathogensy”
(
(
(

vi) Hepatitis / \ _

vii) Polio

/\ )

12.(4) Research has been defined in a numbef' of different ways.
A broad definition of researchbi%ive%by Godwin Colibao: “In the broadest sense of

viii) Worms

the word, the definition of research includes any gathering of data, information, and
facts for the advancement of knowledge.”

Another definition of research is given by John W. Creswell, who states that “research
is a process of steps used to collect and analyze information to increase our
ungerstaﬁﬁin\g of a topic or issue”.

It consists of three steps: pose a question, collect data to answer the question, and
present an answer to the question.

The Merriam-Webster Online Dictionary defines research in more detail as “a studious
inquiry or examination; especially investigation or experimentation aimed at the
discovery and interpretation of facts, revision of accepted theories or laws in the
light of new facts, or practical application of such new or revised theories or laws.

www.vpmclasses.com | Ph-9001297111/ WhatsApp - 9001894070 | info@vpmclasses.com




13.(3) In descriptive survey method- we’ve to use questionnaires (Because it’s ‘survey).
Descriptive research is all about describing people who take part in the study.
There are three ways a researcher can go about doing a descriptive research project,
and they are: Observational, Case study and Survey, defined as a brief}d’erview or
discussion with an individual about a specific topic (L
Historical method- we have to use primary and secondary sourcés.

Historical method comprises the techniques and guidelines byxéf% istog]ans use
primary sources and other evidence, including the evidence of acha/édlogy, to
research and then to write histories in the form of accounts of the past

In experimental method- we can collect data in \ay that per |t standardized
tests. The experimental method is a systematic and scientific approach to research
in which the researcher manipulates one or more variables, and controls and
measures any change in other variables.

An ex post facto research design is a method,in which groups with qualities that
already exist are compared on soyré dependentvarlable

Also known as “after the fact” re egrch an §>p03t facto design is considered quasi-
experimental because the subjects are no randomly assigned - they are grouped

based on a particular charact ristic or tralt
14.(4) According to Burton, Tea:hng/é the stimulation, guidance, direction and

encouragement of learning.

Good teaching requires some basics that a teacher should follow to achieve the
main goal of teaching.

Good t \ching is as much about passion as it is about reason. It's about not only
moy'vatiné\s\t\?dents to learn, but teaching them how to learn, and doing so in a
manner that is relevant, meaningful, and memorable.

I\f’s\ab\out caring for your craft, having a passion for it, and conveying that passion to
everyone, most importantly to your students.Good teaching is also about bridging
the gap between theory and practice. It is about listening, questioning, being
responsive, and remembering that each student and class is different. It is about
caring, nurturing, and developing minds and talents.

Diagnosis, Remedy, Direction and Feedback are required for good teaching.
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15.(1) The National Institution for Transforming India, also called NITI Aayog, was formed
via a resolution of the Union Cabinet on January 1, 2015.

NITI Aayog is the premier policy “Think Tank’ of the Government of India, providing
both directional and policy inputs. While designing strategic and long term policies
and programmes for the Government of India, NITI Aayog also provi(e&m;/té}evant
technical advice to the Centre and States. N
The Government of India, in keeping with its reform agenda%&ﬁt&tedﬁ%/NITl
Aayog to replace the Planning Commission instituted in 3(950 \/ ‘

An important evolutionary change from the past, NITlI Aayog acts-as the qumtessentlal
platform of the Government of India to bring States tc%acTtogethirljn natlonal interest,
and thereby fosters Cooperative Federalism. A ¢

The Prime minister is its Chairperson. .

16.(1) Horizontal communication is the communicMe information or messages

flows among the similar or same level statuses of) people in the organizational
structure. / )“
Horizontal communication is thgcorﬁmuni ation that flows laterally within the
organization, involves persg@ at the same level of the organization. Horizontal
communication normally involves coordinating information and allows people with
the same or similar rank in aWzahon to cooperate or collaborate. Thus in
terms of statuses horizontal method is used.

17.(4) Spam is an irrelevant or unsolicited messages sent over the Internet, typically to
large numbers of users, for the purposes of advertising, phishing, spreading malware,
etc. \

AN
N\

Spyn is flévging the Internet with many copies of the same message, in an attempt
to force the message on people who would not otherwise choose to receive it. Most
s\panmis commercial advertising, often for dubious products, get-rich-quick schemes,
or quasi-legal services.

18.(2) Propositions are contradictory when the truth of one implies the falsity of the
other, and conversely.
if ‘All thieves are poor’ is false, then the proposition ‘Some thieves are not poor °

must be true.
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19.(3) Non verbal communication is communication of feelings, emotions, attitudes,
and thoughts through body movements / gestures / eye contact, etc.

0.25crore

20.(3) % increase = W“OO .
=25% o8 \
21.(4) For company A N
1+1.25+15+1.75 + 1.75 + 1.75 +2 /N\ \/
=11 crore ) \/ \‘
22.(1) (2.5 — 1) crores = 1.5 x 100 00 000 //
= 150 00 000 /\ _ )
23.(2) Total production of B —
=25+25+3+275+225+225+25 .
=17.75
_ 17. 75 =
Average production = =2. 5/ \./ _
24.(4) In year 2004. J

25.(1) Qualitative data collection techniques.were used as the primary research methods
for this study. Participant and direct/observation plus note taking were the most
important techniques used.

26.(4) Production was at very low level.

27.(1) Ethnic diversity of the people was not appropriately realized by the Central
Governm

28.(3) Centﬂ//&z:nomlc planning found to be difficult because autonomy was given to
the/States |n\certa|n matters

29. (/rBecause that time no common language emerged.

30.(2)“The dlanlsatlon of the Indian Civil Service” , can be cited as an exercise in
democratic practice in India before Independence

31.(4) The information to be collected in survey method are related to present position,
aims of the research & the attainment of aim of research. Exposure units must be
defined, must be considered in developing DQOs for project, or results may not

be accepted.

www.vpmclasses.com | Ph-9001297111/ WhatsApp - 9001894070 | info@vpmclasses.com m




Sufficient samples are required 8-10 samples when contaminant concentrations
vary w ithin a narrow range 10-15 sample when concentrations are less predictable
Calculate 90th Upper Confidence Limit ( UCL)
32.(3) One of the essential characteristics of research is usability. N
33.(1) Aparliamentary system is a system of democratic government in w hich th/(%)im'sters
of the Executive Branch derive their legitimacy from and are accountable to a
Legislature or parliament; the Executive and Legislat}gg nchje\s‘/are

of citizens who can elect people to represent them. .
34.(1) IVRI is situated in I1zat Nagar.
IAT is situated in Pune

interconnected. It is a political system in w hich the supre(me power- lies na body

lISc is situated in Banglore .
NIEPA is situated in Delhi. \
35.(1)The prime minister of India is appointed from the leading Party in Lok Sabha.
36.(2) The study of interrelations betw/ee/n\ Organ:iisr;n/and their environment is called
ecology. A ]/
37.(3) The term ICT is now also ysed to refer t6 the convergence of audio-visual and
telephone networks with computer netx?vo/rks through a single cabling or link system.
38.(4)Fossil fuels are fuels made b)%hﬂa/processes such as anaerobic decomposition
of buried dead organisms.Ex. Oil, Natural gas, coal etc.
39.(3) Noise in excess of 80-100DB is called noise pollution.
40.(4) Effectiveness of teaching depends on Subject Understanding of the Teacher

41. (2) The participation of students will be maximum if Discussion Method is used for
teaching. /
42.(2) N
52
5'0 254 126 @ 30 14 €
e LN . S e (R
256 12 35 2 6 8
N o S . e
% 2 sz =2 42
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43.(1) Deductive reasoning determines whether the truth of a conclusion can be
determined for that rule, based solely on the truth of the premises.

44.(4) (2)* =4, (5> =25 = 425
(2?=4,(4?>=16 = 416 '\
(3)2=9, (5) = 25 — 925 |

45.(1) Such decisions as given in the statement are taken only after t mg the eX|st|ng
vacancies into consideration. So, | implicit while 1l does not WZK

46.(4) CD-ROM disk is the latest write-once optical storage media

47.(4) Domain Name identifies a specific web page and its computeron the Web.

48.(4) The required region is the one which is common Sf\to the rec angle and circle
and is not a part of either the triangle or square "

49.(3) The required region is the one which lies inside the CircI\eb)t outside the rectangle,
square and triangle,

50.(4) The man in the photo is the son of the sister of Bajpai. Hence, Bajpai is the
maternal uncle of the man in the Wét\ograph«, | 4

N\
N\

/\ )

N/

www.vpmclasses.com | Ph-9001297111/ WhatsApp - 9001894070 | info@vpmclasses.com




